Exercise 1.3

39. Internet Recruiting The percentage of fortune Global 500 firms that actively recruited 
      workers on the internet from 1998 through 2000 can be modeled by P(x) = 26.5x –  

      194.5 percent, where x is the number of years after 1990.

      a. What is the slope of the graph of this function?

b. Interpret the slope as a rate of change.

( Source: Time, August 16, 1999)

49. Internet Users The percent of U.S. population with Internet access can be modeled by   

      the function

                                y = 5.7x + 14.61

     Where x is the number of years after 1995.

a. Find the slope and the y-intercept of the graph of this equation.

b. What interpretation could be given to the y-intercept?

c. What interpretation could be given to the slope?

( Source: Jupiter Media Metrix)

57. Cigarette Advertising The total U.S cigarette advertising and promotional expenditure 

      from 1975 to 1996 can be modeled by the equation  y =277.318x-1424.766,

      where y is measured in millions of dollars and x is the number of years from 1970.

      If this model remains accurate, in what years did the spending exceed $6 billions?

       (Source: Federal Trade Commission)

